670 Chapter 6 Matrices and Determinants

EXERCISE SET 6.4

In Exercises 19-28, find A " by forming |A|1] and then using
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Section 6.4 Multiplicative Inverses of Matrices and Matrix Equations
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Practice Plus
In Exercises 4344, find A " and check.
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In Exercises 4546, {f I is the multiplicative identity matrix of
order 2, find (I = A) ! for the given matrix A,
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Prove the following statement:
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(11 Use the method of xample 2 on page 661))

2 Application Exercises

I Fxercises S1-52, use the coding matrix
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In Exercises 53-54, use the codmg natrix
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Explaining the Concepts
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What ts the multiplicative identity matrix?

If you are given two matrices. A and B, explain how 1o
determme if 515 the multiphcative inverse of A

Explain why a matrix that does not have the same number ol
rows and columns cannot have a muluiphcative mverse.
Explain how to find the muluplicative inverse for a 2 x
invertible matrix.

Explain how to find the multiplicative inverse for a 3 X 3
invertible matrix.

Explain how to write a linear system of three equations in
three variables as a matrix equation

Explain how to solve the matrix equation AN = B
What is a cryptogram?

s January 1, and vou've written down your major goal [or
the year. You do not want those closest 1o you to see what
you've written in case you do not accomplish vour objective.
Consequently, you decide to use a coding matnx to encode
your goal. Explain how this can be accomplished



